Validate	Print	Help		Percentage BoQ
Tender Inviting A				

Name of Work:Repair and Maint.of Community Place near quarry no.03 under Kathara Colliery

		` '	To Be Entered by Department		
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Item Description/ Heading					
2	Repairs to plaster of thickness 12 mm to 20 mm in patches of area .5 sq. meters and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete, including disposal of rubbish to the dumping ground within 50 metres lead: With cement mortar 1:4 (1cement: 4fine sand)		m2	369.30	11079.00	INR Eleven Thousand &Seventy Nine Only
3	6 mm cement plaster of mix : 1:3 (1cement : 3 fine sand)	15.00	m2	198.75	2981.25	INR Two Thousand Nine Hundred & Eighty One and Paise Twenty Five Only
4	12 mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement: 4 fine sand)	10.00	m2	294.15	2941.50	INR Two Thousand Nine Hundred & Forty One and Paise Fifty Only
5	Cement concrete flooring 1:2:4 (1cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate	15.00	m2	453.50	6802.50	INR Six Thousand Eight Hundred & Two and Paise Fifty Only
6	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 5 in foundation and plinth in: Cement mortar 1:6 (1cement : 6coarse sand)	2.65	m3	5710.15	15131.90	INR Fifteen Thousand One Hundred & Thirty One and Paise Ninety Only
7	12 mm cement plaster of mix : 1:6 (1cement : 6fine sand)	13.25	m2	216.15	2863.99	INR Two Thousand Eight Hundred & Sixty Three and Paise Ninety Nine Only

Quoted Rate in Wo	rds	INR Zero Only				
Quoted Rate in Fig		Select			0.00	INR Zero Only
Total in Figures						INR One Lakh Thirty Seven Thousand Seven Hundred & Seventy and Paise Thirty Four Only
14	Total impact of GST for the purpose of CTC	1.000	Nos	0.00		INR Zero Only
13	Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth upto 30 cm measured at a height of 1m above ground level and removal of rubbish upto a distance of 50 m outside the periphery of the area cleared.	500.00	m2	9.83		INR Four Thousand Nine Hundred & Fifteen Only
12	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	396.00	m2	103.50	40986.00	
11	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : One or more coats on old work	68.00	m2	64.60	4392.80	INR Four Thousand Three Hundred & Ninety Two and Paise Eighty Only
10	Colour washing such as green, blue or buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime	496.00	m2	30.45	15103.20	INR Fifteen Thousand One Hundred & Three and Paise Twenty Only
9	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade : Old work (one or more coats)	396.00	m2	47.70	18889.20	INR Eighteen Thousand Eight Hundred & Eighty Nine and Paise Twenty Only
8	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	115.00	kg	101.60	11684.00	INR Eleven Thousand Six Hundred & Eighty Four Only